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Question 1 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Which one of the following statements about living things is true?

A) Allliving things can give birth to young
B) A shadow is a living thing as it can move
C) Aoy robot is a living thing because it respond to changes

v' D) Plants are living things even though they cannot move from place to place

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,774,909
Question 2 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following characteristics care true about all insects?

A: They have wings

B: They have six legs

C: They have three body parts

D: They have hard outer covering

A) Aonly
B) B and C only
C) B, CandDonly
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D) A,B,CandD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,774,969
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Primary 4 Science » Primary 4 Science (Term 2)

Which of the following does not describe the staghorn fern and mushroom?

A: staghorn fern and mushroom can make their own food
B: staghorn fern and mushroom are both non-flowering plant

C: staghorn fern and mushroom are fungi as they reproduce by spores

A) Conly
B) AandB only
C) AandConly

D) A,BandC

Question Type:
Randomize Answers:

Muiltiple Choice
No

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,774,979
Question 4 Primary 4 Science » Primary 4 Science (Term 2)
Study the tabie balow.
Animal
e

Mo
Mo
Mo

Which anfmal, W, X, ¥ ar Z is most Saly a bid?

A) W
B) X
c) Y
D) Z
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Question 5

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) Mass
B) Strength
C) Flexibility

v D) Transparency

Question Type:
Date Added:

Last Modified:
QID#:

Question 7

not

A) soft
B) stiff

Randomize Answers:

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,774,981

Which of the following statements is true about mould?

A) Mould can only grow in bread
B) Mould can only grow in dark places
v" C) Mould can only reproduce by spores

D) Mould can only be seen under the microscope

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,774,983

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,774,989
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Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

James' parents were watching television in the living room in the afternoon. They realised that the sun
was very glaring and decided to buy some curtains to solve the problem. Wha is the most important
property that they should consider when buying the curtains?

Primary 4 Science » Primary 4 Science (Term 2)

Leo was bending his thin metal wire to form different shape for his project. His younger brother tried to
do exactly the same action as him by bending a stiff plastic ruler. The plastic ruler broke because it was
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C) light
v’ D) flexible

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A
QID#: 25,774,996

Question 8 Primary 4 Science » Primary 4 Science (Term 2)

The dagram below shows the digestive system with pans kisalied A, B, G and D

=
Dipeslive juices are mob lound in pan, .
A) A
v B) B
C) C
D) D
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,774,999
Qu estion 9 Primary 4 Science » Primary 4 Science (Term 2)
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Sludy the picture of a plant on & pole.
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Why did the plant climb up the pole?

A)
B)
v C)

D)

It wanted to get more air
It wanted to get more warmth
It wanted to get more sunlight

It wanted to get more nutrients

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,004

Question 10

plant

pole

Primary 4 Science » Primary 4 Science (Term 2)
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After taking a deep breath, Tom did the following action.

Which of the two main systems helped Tom jump?

v A)
B)
C)
D)

Muscular system and Skeletal system
Digestive system and Respiratory system
Digestive system and Circulatory system

Respiratory system and Circulatory system

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,009

Question 11
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The disgram below shows the digestive systern with parts belied A, B, C. D and E.

Starf

N

2
4

POy o e

v A) 1

B) 2

D) 4

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,012

Question 12 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit 7143


https://0cm.classmarker.com/6226088_G7V24S64.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775012
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775012&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1635794

8/6/2021 ClassMarker - Manage Test

The diagram below shows the life cycle of an animal.

kgg

Adult Larva

Pupa

Which animals have the life cycle shown above?

A) Butterfly and frog
B) Cockroach and mosquito
C) Grasshopper and butterfly

v’ D) Beetle and mosquito

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,775,016
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Which of the fallpwing parts of the plant matches s functions?

A B C ]
i1} Exchange | Absorbs water | Anchor the plant
gases SomE S I | B it to the soil
Beaulify the Anchor the Support the
Make food
(2) " garden plant to the 50l | |loaves and stem
I . Supports e Anchaor (he plani
{3 ke food Become a fruit R Yer thaao
Exchange E=autify the Anchor e Anchor the piant I
{4 gases garden plant to the soi tothe sall |

A) 1
B) 2
C) 3

D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,775,019

Primary 4 Science » Primary 4 Science (Term 2)
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Tha Venus Hylrap below oy closes its leaves when an Insect lands inside i

ciosed leaves

opan leaves

This ehows thal the Wenus fiyiag & a lving thing because

A) it can grow
B) it can move
C) it can trick insects

v’ D) it can respond to changes

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,775,026
Question 15 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Tha elassilicabon table below shaws 2 Enimals grouped based a0 their charecisnsics.

- %_

————

Grasshapper Frog

Which ona of the following gives the correct sub-heading of &, B, © 7

A B C

{1 Anirmals fhat kay Uik rckiand . L i

I | PRl R SR | ' ]

3 Animats which lay | Animals thal ge Bl

2
(2) | Animals that can iy | to their young aive _|
] Livses o land L-sfane LiHe Cycla 4-gtage Life Gyclo
{41 | 3-stage Life Cycle Pel ol Does not maull
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A) 1
B) 2
c) 3

v' D) 4

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,028

Question 16

Primary 4 Science » Primary 4 Science (Term 2)

Study the diagrams below. Which one of the following does not represent a life cycle?

: Egg
"
t\x_‘— Nymph

v B)
—= Mornin
a ’ w
v
- Afternoon

c)

r/__. Aduit 3\1

D)

e SEEd .
Adudt Plant

" Seedling

Question Type: Muiltiple Choice
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Question 17

A
v" A) Donly
B) Aand B only

C) BandConly
D) All of the above

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18
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No

Fri 8th Jan 2021
N/A

25,775,034

N,

Muiltiple Choice
No

Fri 8th Jan 2021
N/A

25,775,291
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The diagram below shows parts of the growdh of a grean bean

&

Primary 4 Science » Primary 4 Science (Term 2)

Al which parnt of f2 growth (4, B, C or D) will it ba abla to maks e gwn feed?

Primary 4 Science » Primary 4 Science (Term 2)
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The diagrama below show the [fe cycles of two animals, X and
Animal X Animal ¥

e . ay
« 1 A0

\. s
'“‘--..,__________.-l""llI M—L“Jf
Which of the following statemen(s) comecily stateds) the simflarity between the
life Gycie of Animal X and Y7

A Both animals kay their eggs in walber
Tha young of both animats ives in water,

B
i The young of both animais does not look ke the adull
o EBoth animals spend part of their e cycle on land and in water.

A) AandB only
B) B and C only
C) A,BandConly

v' D) All of the above

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,294
Qu estion 19 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Study the diagram below. 4 piant parts are labefled A, B, C and D.

D

Which part enablas the plant o camy out exchange of gases?
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A) A
B) B
v C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,296
Question 20 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

A carried out an expadiment as shown in the diagram below. Tha volume of
Ihe bl [5 300 em®. Then, he pumped an additorsl of Ser? of air inlo tha
bl using a hand pump. The size of the ball remained the same.

Which of the following iz comect?

Mazs of the ball Vaturme of the ball
n Increasa Rermained tha sama
@ S—— -
=2 Incresss Decreasa
{4) | Ramalned the samsa J Increase ]
vV A 1
B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,299
Question 21 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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A bottle was filled with substance J and placed in 3 different positions. The
dragram balow shows the water kevel at e respedive positions.

/N |
= Vi

Posdion 1 Pasitian 2 Paosition 3

]

Substance .J

N

Based on this experment, what can you conclude about substance J7

A It does not have maes.
B Ithas no definite shape.
T Mt does not have a defindle volume,

A) Bonly

B) AandB only
C) BandConly
D) A,BandC

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 22

Multiple Choice
No

Fri 8th Jan 2021
N/A

25,775,305

Primary 4 Science » Primary 4 Science (Term 2)

Juseph carried out an expenment in the Science lab to find ouwl how the

amnount of water given o rad beana affects their growth. He watered the
twenty beans daty and recordad the haight of the seediings after three
weaka in the lable bakow.
Amount of watar given dally Height after 3 weeks '
i) ()
= 6 4
8 &
I 10 T
| 12 L

Bazed on the resuits in the table above, Joseph can conclude that the I'hejnht
of the seadling is dependant on the

A) location of the experiment
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B) number of beans used initially
v C) amount of water give to the beans

D) the type of bean used in the experiment

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,775,308
Question 23 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

The fimgram befow shiows & compass placed befvweaen two slrong Bar
magnats, & and B,

Part X = -~ Part ¥

Mugnet A Magnat B

Which of he folowing cplions cormuctly shows [ label an the poles of the

vty b magnets?
Poxst X Panl Y
{1 Morth Haorth
@ e - RS
@ Marth South
4 Salh Mo
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,309
Question 24 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Shuedy the classification tabla bedow of things made af diferent materials,

Thinga
[ I|
A B
: Steal rod
Erasar
[ II_::" m‘f‘; Alurminlum Can
! . Plastic measuring tape

Which af the Tollowing oplions commedtly represents A and B

A | B
i et — | il
(1) Mom-metal ' istetal
@ Hig”t'.hh‘lll.‘. : S S _-_;:.I.I.-.. e
{3 Have definite shape ! Do not have definiie shape
@ | Have definite volume Do not have definits volme
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,312
Question 25 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit 17/43


https://0cm.classmarker.com/6226088_YCSFNN5W.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775312
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775312&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1635794

8/6/2021 ClassMarker - Manage Test

Zaid conducted an experiment 1o find out the magnalic strength at diferant
parts W, X, ¥, and Z} of the ber magnet.

———

He placméd tha bar magnet inte a bowl of iren nails and countad the numibes of
nails attracted at pars W, X, ¥ and Z. Ha recorded the number of paper clips
altracted o aach of the pars in the able befpw

Parts of the magnet Mumber of paper clips atiracted
]

w
X 1
Y :
F 16
Bazad on the results in the table above, which parts are most lely fo be st
the two pales of the magnat?
A) Wand X
B) XandY
C) YandZz
v D) WandZ
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,315
QU estion 26 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

A iran nail is made into a temporany magnet by the stroke method &= shown
Ioadboeay.

The rail is then placed near a compass. Which of the following correctly
showe the direction the compass neadle will point (o7

A)
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S

v B) :

C) i :

D) /
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,322
Question 27 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Thomas conducted an experimant with 3 magnets, A, B and C.

E
Magnet Magnet
A C
Hox of
paper
clipa
1
p lf /’/
|
1 redre
)
v L L_J

He placed sach magnet info a box of paper ciips and recorded the number of
paper clips altracted to it He then drogped each ol he magnets 5 times from
a tabla of height 1 maire. After which, he tested the number of paparclips
attracted by each magnet again and recorded the results in the table below

| Mo raoet | MagnetA | MagnstB | MagnetC

Bafore dropping B 10 15|

A) Magnet C is the weakest magnet
B) Magnet B is the strongest magnet
C) Dropping magnets has no effect on their magnetism

v D) Magnets lose some of their magnetism after being dropped

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,775,331
Question 28 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Electumagnets Batieriaz
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wires
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Diayne wanted to find oot B ihe numbes of batierdes in a cesed circull alfects
the sirengih of elactromagnale, He mede 3 elactromagnets, &, B and G,
uskg different number of calls as shown below When he placed the
slectromagnets near a containes of nails, electromagoel C aliracted 8 bon

Conainer of ron
nails

Which of the following opfions shows the most likely sbseration Dayne
would have made forelectomagmet A and B7

Question Type:

Multiple Choice

Randomize Answers: No

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,337

Nurmber of iron nails atracted by:
Electromagmst & Electromagred B

m [ 0 B
(2 3 i o
() B 4 S
(4} 7] 12

A) 1

B) 2

c) 3

v' D) 4

Question 29

Primary 4 Science » Primary 4 Science (Term 2)

Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit
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was designed in such a way that it requires manual assistance.

Pazel bought 2 idantical plants for his experiment He filled the idendical
containers with the same emount of tap water, He did someathing to Plant A
before placing it in the container. Afier 3 days, he made the following

{i} m&lﬂﬂinfwﬂm'i:mrﬂ'?

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,343

Correctly answered feedback

Incorrectly answered feedback

Question 30

b) Based on his observation, what can he conclude about the experiment?

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,348

Correctly answered feedback
The more leaves the plant has the more water it absorbed

Incorrectly answered feedback
The more leaves the plant has the more water it absorbed

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit

To find out if the number of leaves affect amount of water absorbed by the root

To find out if the number of leaves affect amount of water absorbed by the root

Primary 4 Science » Primary 4 Science (Term 2)

0 pts
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Question 31

order for the experiment to be fair.

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,354

Correctly answered feedback

Same location

Incorrectly answered feedback

Same location

Question 32

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Other than the variables stated in the question, name another variable that should be kept constant in

Primary 4 Science » Primary 4 Science (Term 2)

Sdipdy the lable beiow,
Groug X Group ¥
Bear plant Elephar
| Cirhid Mushromom
Birds Nest Fam Kingfisher
Mass Sneke

suitables headings for Groups X and Y

X

Accepted answers:

¥ plants

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,359

Question 33

Y:

Accepted answers:

v not plants

(2] Jeff clamsified sceme living tinge into 2 differant groups as shewn above. Give B

Primary 4 Science » Primary 4 Science (Term 2)
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Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,367

Question 34 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
Give an example of a living thing that could be placed in group Y.
Accepted answers:
¥ humans
Question Type: Free Text
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,369
Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 35

Jeff classified e iving fings based on another characteristic in the iable
below, Give sultable headings for his classification by writkg tham In the

boxas,

Elaphant Baan plat
Fingflsher Chrchid
Bird's Maest Fem
Rbushroom
Moss
Snake

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,430

Correctly answered feedback
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I ~ Havelegs R Have no legs
Elephant Hean Plant
Kingfisher Orchid
Bird's Nest Fern
Mushroom
Maoss
e - T T oy — Snake
Incorrectly answered feedback
I ~ Havelegs R Have no legs
Elephant Hean Plant
Kingfisher Orchid
Bird's Nest Fern
Mushroom
Maoss
e e = Snake

Question 36

below,

hiaterial
baing testad

waights —

(a} ‘What proparty of matesials wes James lesling?

Accepted answers:

v strength

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,488

Question 37

Primary 4 Science » Primary 4 Science (Term 2)

James had 4 dfferant pisces of materals, W, X, Y and Z They are of the same
thickness and sioe. He wanied o find oaf which materal is most sukable toba
made imto a shelf for his collection of booka He ast up an experimant as shown

Primary 4 Science » Primary 4 Science (Term 2)
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He kept adding weights on the materal unfl & broke and recorded his fodings
in the table befiow,

Masarial Wixs|lY | £

Weights added befaore it brake (kg) 0 |2z |15 |25

¥'hich materal is most suitabls o be made into a shelif? Explain your answer
based on the findings in the table.

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,493

Correctly answered feedback
Z. It held the most weight before it broke.

Incorrectly answered feedback
Z. It held the most weight before it broke.

Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Question 38

Give an example of material Z

Accepted answers:

v wood

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,497

Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts

Question 39
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The diagram balow shows the human dgastive sysbam.

{a] MNama the following parts

A

Accepted answers:

v gullet

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,500

Question 40 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
B:
Accepted answers:
v" stomach
Question Type: Free Text
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,507
Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 41

What is the function of A?
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Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,512

Correctly answered feedback
To push the food into the stomach

Incorrectly answered feedback
To push the food into the stomach

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

State one difference between parts C and D based on their function

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,521

Correctly answered feedback
Part C absorbs digested food into the blood stream while Part D absorb water from the undigested
food

Incorrectly answered feedback
Part C absorbs digested food into the blood stream while Part D absorb water from the undigested
food

Question 43 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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The diagram below shows. tw e cycle of 2 mosouito

(o} Plame e 8l8Es v the boves providad [l

L@ |

e
e RN

= Jj[i?ja—

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,632

Correctly answered feedback

(i) Egg (iii) Pupa
(ii) Larva (iv) Adult

Incorrectly answered feedback

(i)  Egg (iii) Pupa
(ii) Larva {iv] Adult

Question 44 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

At which stage is the mosquito harmful?

Accepted answers:

v adult
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Question Type: Free Text

Date Added: Fri 8th Jan 2021

Last Modified: N/A

QID#: 25,775,534

Question 45 Primary 4 Science » Primary 4 Science (Term 2)

State two ways to prevent mosquitoes from breeding

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,538

Correctly answered feedback
Spray oil on the water surface

Incorrectly answered feedback
Spray oil on the water surface

Question 46 Primary 4 Science » Primary 4 Science (Term 2)

. The diagram Dalow ahows fhe iife cycles of a chicken and & bultedly,

Life cyche of a chickan

(@) How is the Ife cycle of a chickan diffierent from that of @ butierfiy? [

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,545

Correctly answered feedback
The life cycle of a chicken has 3-stages while the life cycle of a butterfly has 4-satges

Incorrectly answered feedback
The life cycle of a chicken has 3-stages while the life cycle of a butterfly has 4-satges

/lwww.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit
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Qu estion 47 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

How is the life cycle of a chicken similar to that of a butterfly?

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,549

Correctly answered feedback

They both have an eggs stage

Incorrectly answered feedback
They both have an eggs stage

Qu estion 48 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

State a different between state Y and X in the life cycle of a butterfly

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: Fri 8th Jan 2021
QID#: 25,775,567

Correctly answered feedback
Stage X eats, while stage Y does not eat

Incorrectly answered feedback
Stage X eats, while stage Y does not eat

Question 49 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Name another animal that has a similar life cycle as the chicken

Accepted answers:

v grasshopper

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,681
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%)

A

v CBDA

v C,B,D,A
v c,B,D,A
v CcCBDA

v CBDA

Question Type:
Date Added:
Last Modified:
QID#:

Question Type:
Date Added:
Last Modified:
QID#:

ClassMarker - Manage Test

Question 50 Primary 4 Science » Primary 4 Science (Term 2)

Tha diagram baiow shows the growih of 8 green bean seed, However, il is in the
wrang ordar.

_ﬁfﬁq .G

] = o

&) Stat= the correct growth order gtarting with . [1]

Accepted answers:

Free Text

Fri 8th Jan 2021
N/A

25,775,690

Qu estion 51 Primary 4 Science » Primary 4 Science (Term 2)

What will happen to the seed at D if it was planted in a pot of soil and placed in the storeroom where
there is no light for a month? Explain your answer

Essay

Fri 8th Jan 2021
N/A

25,775,702

Correctly answered feedback
It will continue to grow until it has leaves, but it will start to die as it has no light to make food

Incorrectly answered feedback
It will continue to grow until it has leaves, but it will start to die as it has no light to make food

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit

1 pt
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Question 52

He set up his experiment at different locaffons as shown Balow,

Manage Test
Primary 4 Science » Primary 4 Science (Term 2)

Jack sel up an exparimant to ind aut ¥ beansreed waler 1o graw inlo a seedling

Set-up 1 = Sctup 2
beans
: cotton bl
wool
¥
i1 the clzssroam .. i fhve: apen achool Sald
Set-up 3 Setup 4
dry
damp
cofton athon
[
waal
bstal
In the garden | " kn the garden
|

(3} Which of the set-up(s) should Jack usefor the exgedment?
Give & reasan for your answer,

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,713

Correctly answered feedback
Set-up 3 and 4. The only changed variable is the presence of water,

Incorrectly answered feedback
Set-up 3 and 4. The only changed variable is the presence of water,

Question 53

State 2 other variables that Jack has to keep the same to ensure a fair test.

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,717

Correctly answered feedback
The same type of beans and the same amount of cotton wool.

Incorrectly answered feedback
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The same type of beans and the same amount of cotton wool.

Question 54

What are the 3 conditions needed for the beans to grow?

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,723

Correctly answered feedback
water, warmth(temperature) and air

Incorrectly answered feedback
water, warmth(temperature) and air

Question 55

bfowes (nto the fube end bubbles cowld be seen in the waler.

Baotthe

hose? Expain yous answes

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,731

Correctly answered feedback

The water level will remain the same. The air bubbles will escape through
as it is opened.

Incorrectly answered feedback
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The water level will remain the same. The air bubbles will escape through the bottom of the bottle
as it is opened.

Question 56 Primary 4 Science » Primary 4 Science (Term 2)

Predict what would be observed if the bottle is completely filled with water to the brim and Daniel drops
a big stone into he plastic bottle. Explain your prediction

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,744

Correctly answered feedback

The water will spill out of the container. As a stone occupies space and water occupies space
because use the stone is heavier than water so the stone will sink to the bottom. Hence, the water
will spill out of the container.

Incorrectly answered feedback

The water will spill out of the container. As a stone occupies space and water occupies space
because use the stone is heavier than water so the stone will sink to the bottom. Hence, the water
will spill out of the container.

Question 57 Primary 4 Science » Primary 4 Science (Term 2)

Judy prepaned her trofley bag for iravel by falding her dlothes as shown in
Diagram A Howewvar, har mothar commantad that she should roll the clathes
instead of fodding lhem as thare will be more space for ofhar things n the bag.

Piore space

Clothes folded ) Clothes ralled

Dhageam & . " Diagram B
(3} Give g reason why there was more spaca in her rolley bag when Judy i1l

iolled up hes clothes inslead of folding them.

Question Type: Essay
Date Added: Fri 8th Jan 2021
Last Modified: N/A
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QID#: 25,775,750

Correctly answered feedback
When the clothes are rolled, air trapped in between the clothes is removed. Hence, it take up less
space.

Incorrectly answered feedback
When the clothes are rolled, air trapped in between the clothes is removed. Hence, it take up less
space.

Question 58 Primary 4 Science » Primary 4 Science (Term 2)

il udy placed some marbles Inlo 8 jar 83 shown below.,

Jrr of maroies

A0 of
sand

Exgilain whether it is possible to pour 30cm® of sand b B jar, ]

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,757

Correctly answered feedback
Yes, it is possible. There are air gaps between the marbles and the sand so it can take up its
space.

Incorrectly answered feedback
Yes, it is possible. There are air gaps between the marbles and the sand so it can take up its
space.

Qu estion 59 Primary 4 Science » Primary 4 Science (Term 2)
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Tom placed chjects X, ¥ and Z at dffarent cstanca from the trey of paper cios
and recorded the number of paper dipe altracted in the table below,
Ot
o
Atray of
SN N e
_Number of paper clips afimcied
Ohbject X Qibjec ¥ Object 2
i) Q 10
18 1] B
1% o ]
2 o 2
L1 1] b
@)  Prodict the number al paper clips atiracted when Object X was 4om from [1]
kv paper cips,
Accepted answers:
v 13

v" 13 paper clips

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A

QID#: 25,775,763

Primary 4 Science » Primary 4 Science (Term 2)

Question 60

What is the relationship between distance D and the number of paper clips attracted by Z?

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,770

Correctly answered feedback
As the distance increase, the number of paper clips attracted by Z decreases.

Incorrectly answered feedback
As the distance increase, the number of paper clips attracted by Z decreases.
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Question 61 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Compare the difference in the results for object x and z

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,779

Correctly answered feedback
Object X is a stronger magnet than object Z./Object X attracts paper clips is more than Object Z

Incorrectly answered feedback
Object X is a stronger magnet than object Z./Object X attracts paper clips is more than Object Z

Question 62 Primary 4 Science » Primary 4 Science (Term 2) O pts

What can you conclude about Object Y? Explain your answer.

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,784

Correctly answered feedback
Object Y is not a magnet as it does not attract paper clips.

Incorrectly answered feedback
Object Y is not a magnet as it does not attract paper clips.

Question 63 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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Liscy whritled bo camy oul an exparknent to fnd out if the meamber of hans of coils of
wire arcund an inon naEil wolld sfect the strength of an elecdromagnel.

Setaup A

=N @)L.

aet-up G

SN

fa) Which two set-ups shown above should she use bo conduect a fair test?

A) Set-upA
v B) Set-upB
C) Set-upC
v' D) Set-upD
Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,789

Correctly answered feedback
Set-up Band D

Question 64 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Will the set-up work if Lucy were to use a rubber nail? Explain your answer

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,798

Correctly answered feedback
No. The rubber nail is non-magnetic material, hence, the nail cannot become an electro magnet.
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electromagnet?

Question Type:
Date Added:
Last Modified:
QID#:

Question Type:
Date Added:
Last Modified:
QID#:

Incorrectly answered feedback

Question 65

Essay

Fri 8th Jan 2021
N/A

25,775,810

Correctly answered feedback

Incorrectly answered feedback

Question 66

Essay

Fri 8th Jan 2021
N/A

25,775,814

Correctly answered feedback

Use more betteries

Incorrectly answered feedback
Use more betteries

Question 67

ClassMarker - Manage Test

No. The rubber nail is non-magnetic material, hence, the nail cannot become an electro magnet.

Primary 4 Science » Primary 4 Science (Term 2)

What would be the changed variable if Lucy were to use Set-up A and B to test the strength of the

The number of batteries affect the strength of electro-magnet

The number of batteries affect the strength of electro-magnet

Primary 4 Science » Primary 4 Science (Term 2)

Suggest another way to increase the strength of the electromagnet

Primary 4 Science » Primary 4 Science (Term 2)
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Sam placed 3 rings on & stand an shosn below. Magnst 8 is floating betwesen
bagnal A and C,
.:H..

/5

_;I— Magnat G

{al What are the poles of X and ¥

X

Accepted answers:

v’ south

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: Fri 8th Jan 2021
QID#: 25,775,820

Question 68

Y:

Accepted answers:

v south

Question Type: Free Text

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,823

Question 69

Explain why the magnet B is floating in the middle

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,832

Correctly answered feedback
The like poles of the magnets are facing each other and thus they repel each other.

https://www.classmarker.com/a/tests/test/?test_id=1635794&trk=edittest_inrow_edit

i

Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

0.5 pts

0 pts

41/43


https://0cm.classmarker.com/6226088_7IC1IZ49.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775820
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775820&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1635794
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775823
https://www.classmarker.com/a/tests/qb/manage/?test_id=1635794&question_id=25775823&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1635794

8/6/2021 ClassMarker - Manage Test

Incorrectly answered feedback
The like poles of the magnets are facing each other and thus they repel each other.

Qu estion 70 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
kagnet C
__—— Magnet B
—1—— Magnet A
[ j
What must be done to the magnefs on the stand so thal they are as shown
above 7

Question Type: Essay

Date Added: Fri 8th Jan 2021
Last Modified: N/A
QID#: 25,775,835

Correctly answered feedback
Flip magnet A

Incorrectly answered feedback
Flip magnet A

Question 71 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

The diagram below shows what happened whan Magret B and © wera

placed above Magnet A
I Magnet B
@ Magnet Hem
= Magneat A
[ ]

Explain why Magnat B and C are floating a! dfferent distances from Magnet [
A

Question Type: Essay
Date Added: Fri 8th Jan 2021
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Last Modified: N/A
QID#: 25,775,836

Correctly answered feedback
Magnet B has stronger magnet than magnet C

Incorrectly answered feedback
Magnet B has stronger magnet than magnet C
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